R RBEANR—L BREE
(NNEEFRH) ERAATEENE (a—bRATA) CHANER (FH6F8A 1 BRA)
O HIRIREIBEISIA (28] (32 O (LEA 28, TEA 3

AET—CRE| & %% & R OMERR .
(18) (18) (18) (18) | BOAERE
S 938Mm =3 814M, BK=:3498M™
1, 407H 8= : 4,283 H/£K= : 3,967 M
B0 1, 158H B= : 4,034 H/£K=E:3,718 1
1. 737M = : 46130 BKE: 4297 H
- 1 268M E=-4 1440 BK= -3 828 M
1. 902M = 4,778 0/ BKE : 4,462 [
. 1. 206m B=-1.231m1 = 4,282 F BEE : 3,966 M
B2 2. 100m| 1 445F| gh= o5y 200H {2 : 4,985 FI BERE : 4,669 [
B3 1, 5520 B=:4428M/2K=E:4,112H
2 328M {B% : 5,204 [/ B : 4,888 [
B 4 1, 692H 8= : 4,568 /£ K= : 4,252 1
2 538MH {2 : 5,414 FI/ BERE : 5,008
EHES 1. 830M = 4,706 F. BEZ : 4390 M
2, 7450 = :5621 H/2K=:4,2056 1
@ (FEAEERS 1 ERBE~F IERBIZUTITESLZWA
&Y —EXE B 2 &8 T B BEERE As
(18) (18) (18) (18) 1 HOSE®RE
EXIE 1 469M =3 3450 BK=E:3029M
BXiE2 579H {B= : 3,451/ &K= 3,139H
BEfE2 703H 1, 445M zbk_%-'msﬂ 200M {B= : 3,579 .%K= : 3,263 M
EN3 776H ' A% : 3,652 0./2K=E : 3,336 @
B4 846H 8= :3,722 /%K= : 3,406 M
ENiES 915H B=:3 19 H/2K=E:3,415H
@ (£ 3D, @1 EEtFiEE5ELFELWNAZEDOAEETH 80 AL LE GEEfFRttT) (LEEBEAD. TEHAD)
&Y —EXE B E H T EBE BEERE As
(18) (18) (18) (18) 1 HOSE®RE
= : 2,500 [, SKZ : 2,09 A
BiR 4 6 9 [B= . 2 819 B SEE . 2,399
BE=: 2,650 A BK=: 2 200/
BXR2 579H B : 2 959 [/ SBKE . 2,509 F
ENE 634M B 50141 B . 2 504 1
) 1,000/(@ | fH=:880M =2 83 F BKE 2,308
B2 7O03H 1 30m@) | #EE:40M 200H {B=: 3,083 /K= : 2,633 [
. = : 2,856 [/ BEKE : 2,406 M
B3 776H {B= . 3,156 M B5= - 2,706
. E= 2 926 M, 2K= : 2 476 {
B4 846H B2 : 3,226 [/ BHKE : 2,776 M
. E=: 2,995 [, BHKE : 2,545 1
NS °15H {B= . 3,205 [ SKE . 2 845

® 2K AFAEEELFEINAZEDSEH 80 AHLUT GERTH )

Ny —EXE B EF T E BEEFE A
(18) (18) (18) (18) 1 BOEEEE
EXiE1 469MH E=: 1,749 1 %K= : 1,699 B
EXiE2 579M {8 : 1,859 /%K= : 1,809 0
BN 634M = : 480 B=:1,9148/2K=:1,804H
B2 703H 600M SEE - 430 [ 20080 B2 : 1,983 9.~ %FK=E:1,933 8
ENE3 776M {8 : 2,056 FH. %K= : 2,006 M
ENiE4 846M 8= : 2,126 H. %K= : 2,076 M
ENiES 915M B=:2,195 M %K=E:2145H
® (E 1B ERMHT cCERREIBIHEHTE-IIZHREUFEZHRE
Ny —EXE B E R T EBE BE&LEFTE A
(18) (18) (18) (18) 1 BOGEER
EXE1 469M B=: 1,349 /2K=E: 969H
EXiE2 579MH 8= : 1,459 /%K= : 1,019 1
BN 634M = - 380 B=:1,514H/2K=:1,134H
ENGE2 703M 800 |  gue.om 200H fB=:1,583 9/ SK=E: 1,203
ENEE3 776H 8= : 1,656 . ZK=:1,276 H
ENiE4 846M B2 : 1,726 H. %K= : 1,346 M
ENES 915M 8= : 1,795 H. %K= :1,415H




